=
<

a(o @) (rad)
a(d cot(d))

1072

....I....I....!....I....I.... 1073

15

Ratio

ey

o
)

G —— v

‘ Tl 41 (i

) Attt IR S TG
-2 -1 0 1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

Ut an |

[T

|
w

|
N

|
=

[—=— DQM_VUOUI_RUUOU0OOUUL__Global_CMSSW_CKIPUSU__RECO

—e— DQM_V0001_R000000001__Global_CMSSW_mkFitPU50__RECO

—— DQM_V0001_R000000001__Global__CMSSW_mkFitPU50LowPtQuad__RECO

—— DQM_V0001_R000000001 _Global__CMSSW_mKkFitPU50LowPtQuad-noBkwd__RECO

=~ 1 =~
= F £ T TR TR TR TR TSR E e ST =
B + [3) i o
2 r =
~ ~
2 3 o>
> r o
o | o
3 ©

107}

T
e
r

T

=

<2
N

AL

1072
1.5

Ratio

[y

——
Ratio
N

0.5

i S g
2 -1 0 1 2 3 4 il ]
TP n (PCA to beamline) TP n (PCA to beamline)

|
[ aad A ARl

[+ g i N

=

3 %
o
=2 Al
o
i
o :-“-'lr----|- .I. I i
w11
Wiy
b +|L;+|1T I
-3 ) )

il A
il
0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


